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BENE FHEA) RHE(B) ER(A)-(B) =

5| |[RBBENA 104, 740, 000 105, 458, 810 718, 810
5 | | EBABELRIA 11,000 5,900 5,100
= | A |zothoum A 670, 000 584, 000 86, 000
| [EEEBIRAG (1) 105, 421, 000 106, 048, 710 627,710
B BT 78,930, 000 78,836, 772 93,228
€| |BmE=m 14, 880, 000 14, 806, 833 73,167
& |32 | Esm 8, 260, 000 7,682,628 577,372
3 || HE 600, 000 595, 711 4,289
x| |[Eotozi 500, 000 480, 000 20, 000
& | [BEEBEE (2) 103, 170, 000 102, 401, 944 768, 056

SEEHASNEEE (3) = (1) - (2) 2,251, 000 3, 646, 766 1,395, 766
2|y [ERERSEH RN 0 392, 436 392, 436
1| 5, [RIBEEEARIA 57, 000, 000 57,000, 000 0
= | [FERREHERAG (4) 57,000, 000 57,392, 436 392, 436
L [z |[ERESEA R TR EESE 6,000, 000 5,999, 581 419
| |EEREREs 20, 340, 000 20, 330, 900 9,100
& | e ms L tat (5) 26, 340, 000 26, 330, 481 9,519
% e mEa e =2 (6) = (4) — (5) 30, 660, 000 31,061, 955 401, 955
IR [ A AR A 8, 000, 000 8,000, 000 0
& | A [EOMDEBIRAGE (7) 8,000, 000 8,000, 000 0
B[ X (B EERE 40,000, 000 42,000, 000 2,000, 000
€ |t [zotoEm=mEr (8) 40,000, 000 42,000, 000 ~2,000, 000
L [EOOEBESINEZE (9) = (7) - (8) =32, 000, 000 =34, 000, 000 2,000, 000
FREZE (10) 911,000 911,000

0

SHESNEERAT (11) = (3) + (6) + (9) - (10) 0 708, 721 708, 721
AR A A RS (12) 10,942,072 10,942,072 0
LR RIESRES (11) + (12) 10,942,072 11, 650, 793 708, 721
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